Graphing Application Practice

1. Nadia and Lisa both earn money by

babysitting. The following graph shows +
100

Babysitting Earnings

their earnings compared to the number of %
hours they worked last week. 8
. 70
a) Lisasays: “If we both work less than 5 Amount g
hours or more than 15 hours, I earn more (ir??i[‘.:r;g:s) 50
than you do.” 40
30 —=
., . 20 o
Label Lisa’s line with her name. o 1.1
Write Nadia’s name next to the other line. il | _
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Time worked
(in hours)

b) Describe what the graph shows about how
each girl is paid.

¢) Sana also offers babysitting. She charges a set fee of $15.00 per week to cover the cost of her bus
pass, plus an additional $4.00 per hour. Include Sana’s earnings on the graph. Label the line.

d) Your neighbour needs a new babysitter. Under what conditions would you recommend they hire
each babysitter?



2. Sabine works for a photographer. Each day, she is paid a flat rate, plus an additional amount
for each roll of film she develops. Her earnings are shown in the table below.

A
Number of Rolls | Total Amount §
of Film (r) Paid (A) 70
5 17.50
10 25.00 60
15 32.50 _
20 40.00 E =0
a) Graph the relationship on the grid E 0
provided. E a0
b) Describe the details of how Sabine gets g 20
paid.
10
0 5§ 10 15 20 25 30 35 40

Number of rolls of fiim

c) One day Sabine earns $37.00. How many rolls of film did she develop that day? Justify your
answer.

d) Describe how the graph would change if Sabine was only paid for the rolls of film she developed
(no fixed cost).

e) Her boss proposes that Sabine be paid a flat rate of $50.00 for each day’s work, no matter how
many rolls she develops. Should Sabine accept this offer? Justify your answer.



b)

d)

When Stretch Gordon signed a contract to play basketball for the Toronto Raptors, he received a one
time signing bonus of $250,000. His contract said that he would also receive $100,000 for each game

that he plays. The Raptors are scheduled to play 85 games this season.

Write an equation relating Stretch’s earning (E)
to the number of games he plays (n).

Complete the following table of values.

Number of

Games Played Money Earned

Create a scatter plot to show his earnings for the
season. Include a line of best fit.

What is the maximum amount of money that
Stretch can earn in one season? Show your
work.

Stretch’s twin brother, Rory, has been offered a
different contract. His earnings (E) are shown
by the equation E = 95000n + 450000, where n
is the number of games that Rory plays. Is this a
better offer than Stretch’s? Give reasons for
your answer by comparing the two offers,
reporting mathematical details about the
comparison.
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The following graph shows the relationship between the total cost and the minutes of use for three
different Internet Service Providers. Tonisha wants to sign up with one of the companies and she
wants to pay as little as possible.

Cost vs. Minutes of Use
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Determine which company Tonisha should use. Include details about minutes of use in your
explanation.
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Q) Alicia and Buster walked in front of a motion detector. The graph below shows the relationship
between the distance from the detector, d, in metres, and time, t, in seconds.

d Distance vs. Time
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When was Buster moving faster than Alicia? Give reasons for your answer.
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7. Troy works as a mechanic at Quick Lube and performs oil changes on cars. His total pay for a day
at work is given by the formula T = S¢ + 25, where c is the number of oil changes he does that day.

a) Explain what the numbers 5 and 25 in the formula tell you about how Troy is paid.

b) Complete the chart and create a scatter plot on the grid Yotal Dally Pay va. Number of Ol Changes
provided. T

1504

Number of Oil

Changes Total Pay

125

100

Total daily pay ($)

50

¢) Today, Troy needs to earn enough money to pay his -

$85.00 phone bill. How many oil changes would he
need to perform today? Show your work. . _ - - - -

Number of oll changes
d) How would the graph change if Troy earned e) How would the graph change if Troy earned

$6 per oil change? a $35 starting fee?

f) If Troy’s boss offered him a raise, would it be better to start earning $6 per hour or to start earning a
starting fee of $35?



b)

d)

A group of 4 friends go bowling at Bowling Bonanza. Bowling Bonanza charges $2.50 for each
player to rent shoes, plus $20 per hour for a group of 4 to bowl. The graph below represents the
relationship between cost, C, in dollars, and time, t, in hours, for 4 players to bowl.

State the coordinates of point A on the graph.
C

Fy
140

Cost for 4 Players vs. Time

Explain what the coordinates of the point A tell you

about the cost of bowling. 120

100

80

Determine the equation of the graph. 60

Cost for 4 players ($)

40

20,7

This group of friends wants to spend $80. How many
hours can they bowl at Bowling Bonanza? Justify your
answer.

William and his 3 friends are going bowling. He finds and

advertisement in the newspaper for a new bowling alley, Super Bowl.

William and his friends will play 6 games in 3 hours. Determine
whether William and his friends should go bowling at Bowling
Bonanza or Super Bowl. Justify your answer.

Super Bowl

* Free bowling shoes
¢ Each player pays
$3.00 per game

Call 555-BOWL and book
your lane today.
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Graphing Application Problems

Babysitting Earnings

1. Nadia and Lisa both earn money by S
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b) Describe what the graph shows about how each girl is paid.
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¢) Sana also offers babysitting. She charges a set fee of $15.00 per week to cover her bus pass, plus
an additional $4.00 per hour. Include Sana’s earnings on the graph. Label your line.
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d) Your neighbour needs a new babysitter. Under what conditions would you recommend they hire
each babysitter?
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2. Sabine works for a photographer. Each day, she is paid a flat rate, plus an additional amount for
each roll of film she develops. Her earnings are shown in the table below.

O ’O f%
Number of Rolls | Total Amount T P & o Tht Barae g
of Film (r) Paid (A) 70 i/\}’f - —ane E ,""/’“c(
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10 25.00 6 ' A o
15 32.50 = ' ) 3%
20 40.00 5 ¥ —~ — -
2 ® /,}
a) Graph the relationship on the grid , »;5 4 p P
provided. (Do f-r\j /J/w'f'f"h‘j [#.5% ! & P S T
foo hod ) B Q0 ’ N Al
od ) & RN (OO oY
b) Describe the details of how Sabine gets g J o /
paid. , . A A
She Charge € & #/o Flot rake, R
o A e
. #[.50 per 2| ci'f’l/m . , :
(0 /(,U / {J o § 19 15 20 25 30 35 40

Nuinber of rolls of Hn

c) One day Sabine earns $37.00. How many rolls of film did she develop that day? Justify your
answer.

E=104+1.50n ;_(/w, ojt/&/e/o?ot:j /g rolls c)‘r‘ Flm.
Cg.’)(.): o + [-ST A

2T = S0 n

1§ =n

d) Describe how the graph would change if Sabine was only paid for the rolls of film she developed
(no flat rate).
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e) Her boss proposes that Sabine be paid a flat rate of $50.00 for each day’s work, no matter how
many rolls she develops. Should Sabine accept this offer? Justify your answer
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3. When Stretch Gordon signed a contract to play basketball for the Toronto Raptors, he received a
one time signing bonus of $250,000. His contract said that he would also receive $100,000 for each
game that he plays. The Raptors are scheduled to play 85 games this season.

a) Write an equation relating Stretch’s earning (E) E

to the number of games he plays (n). Pone DE_,:
F = 2500ve + [poocon
§TREBOt0
b) Complete the following table of values. €S p
g3 :
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c) Create a scatter plot to show his earnings for the = /%0 : i - - 4 : o - 40

season. Use a suitable scale. Change the money
values in your table to millions of dollars before
starting.

Number of games played

d) What is the maximum amount of money that Stretch can earn in one season? Show your work.
LS games ;
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=P¥F55000 ecun is & 8§ Fo ovo .

e) Stretch’s twin brother, Rory, has been offered a different contract. His earnings (E) are shown by
the equation E = 95000n + 450000, where n is the number of games that Rory plays. Is this a better
offer than Stretch’s? Give reasons for your answer by comparing the two offers, reporting
mathematical details about the comparison.
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4. The following graph shows the relationship between the total cost and the minutes of use for three
different Internet Service Providers. Tonisha wants to sign up with one of the companies and she
wants to pay as little as possible.

Cost vs. Minutes of Use

& H
50
45 %
. f.f
403 T
. : P
% eV
&
= K34 v
= 3G
E Wi oy
S 3
8 75 E g/ --{Qﬁ:’ Vel
)=
Lo N
26 g £ EchoTech.
15 %
-
/"/
iC
5- .
s 25 50 75100 12&% 1850 7R 200

tinutas of use

Determine which company Tonisha should use. Include details about minutes of use in your
explanation.
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6. Alicia and Buster walked in front of a motion detector. The graph below shows the relationship
between the distance from the detector, d, in metres, and time, t, in seconds.

P Distance vs. Time
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When was Buster moving faster than Alicia? Give reasons for your answer.
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b)

c) Today, Troy needs to earn enough money to pay his
$85.00 phone bill. How many oil changes would he
‘need to perform today? Show your work.

d)

Troy works as a mechanic at Quick Lube and performs oil changes on cars. His total pay for a day
at work is given by the formula T = 5S¢ + 25, where c is the number of oil changes he does that day.

Explain what the numbers 5 and 25 in the formula tell you about how Troy is paid.
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Complete the chart and create a scatter plot on the
grid provided.
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How would the graph change if Troy earned

$6 per oil change?
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e) How would the graph change if Troy earned
a $35 starting fee?
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f) If Troy’s boss offered him a raise, would it be better to start earning $6 per hour or to start earning a

starting fee of $35?
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8. A group of 4 friends go bowling at Bowling Bonanza. Bowling Bonanza charges $2.50 for each
player to rent shoes, plus $20 per hour for a group of 4 to bowl. The graph below represents the
relationship between cost, C, in dollars, and time, t, in hours, for 4 players to bowl.

a) State the coordinates of point A on the graph.

(4,

Cost for 4 Players vs. Time
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d) This group of friends wants to spend $80. How many 0 oz .‘ﬁ o8 e

hours can they bowl at Bowling Bonanza? Justify your Time (n}

answer.
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e) William and his 3 friends are going bowling. He finds and

advertisement in the newspaper for a new bowling alley, Super Bowl. f e/ 50“//

William and his friends will play 6 games in 3 hours. Determine ‘?&

whether William and his friends should go bowling at Bowling « Free bowling shoes

Bonanza or Super Bowl. Justify your answer. * Each player pays

$3.00 per game
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